Y6 - Autumn - Block 2 - Step 7 - Long division (3) Answers

Question

Answer

[5 T30[45]60] 75 ] 90]105 120135 150]

5/0/r10 1/0/r10
15/7 60 15/ 163
7.5 15
10 1|0
63 rl 4/9r5
15|19 4|6 15|7 4|0
9|0 60
4|6 1/4/0
4|5 1/3/5
1 5

136 is not exactly divisible by 15

a) 54r8
b) 102 r4

a) 35
b) Add together 380, 24 and 9. Divide the total by 12 and round up to the next whole
number of tables.

899 = 30 899 =+ 8 899 = 11 899 + 24 899 + 99

v v

Party Supplies: £52.80
Fun Stores: £56.00

remainder is odd remainder is greater than 6

a) 532+140r215+43 remainder O
b) 21354 0or 321+ 54 remainder 51
Children could discuss strategies for finding the smallest/greatest remainders.




